For problems D "% given the parent function and a description of the transformation, write the equation ot the
transformed function, f(x).

i

. Absolute value—vertical shift down 5, horizontal shift right 3.

. Linear—vertical shift up 5.

N

Square Root —vertical shift down 2, horizontal shift left 7.

N

Quadratic— horizontal shift left 8.

POrent:

q fx) = |x +5] -2 Troanstormation:

-IO e =% 2 Pavent:
Transor mation:,

l l._' f(x) = l.\,_ ll PO.Q nt,
Transtoc man o,

IZ- hix) = Jx +4 Pann*—:
Trans$or mation:

‘g'. Pawve n+ -

8(x)=/x-2
Tr&”“"”’”aﬁaw:

. Parent:
g(x) = (x+1)*+3
Tra"‘r‘&fhnaﬂorl:

5. Pare pt-:
h(x) ==x* + 1

L. Pareint -

hix)= Vx+2 -5
| Tlonsformation:
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